Model : CF 8747-B

(3' TWIN)

Assembly Instruction

Headboard :90

Footboard :90

4pcs

Headboard
Leas 2pcs

Footboard
Legs vaow

N
¢ mmmmmmmm 2pes
Side Rail
-““\ Support Wood L.—uow
\ Slat 4pcs

Support Legs L.—uow

Step 1: Fix the headboard and footboard with legs as shown

JCBB M8 x16 Mw_uow

JCBC M6 x 30 20 pcs

JCBC M6 x 35 4 pcs

JCBC M6 x 50 8 pcs

Allen Key 100mm

Ipc

Allen Key 70mm ﬁﬁo

CSK Screw 32mm

8pcs

Spring Washers @—qu

8pcs

4pcs




‘(H) s1es o 03 (1) s3o1 poddns o yoeny :9 doyg

“(D) rex apis oy 0} () S9f [rex opIs oy YIENY p delg

“KI[1q®IS POq S[qEIISOp UIBIQO 0} JUSIOLIINS 9q P[NOYS SIB[S O} JO dOURISIP Y],

*MOIOS S[SD YN Sie[s oy} uySL], ‘[1el 9pIS 03 Sye[s paq oy} [[eisu] (Q) A9 U]V UM IoUI0)) § o) uy3L], ;£ doig

‘1315 03 umop 3o30e1q oy Sulysnd £q (g) preoqioo] pue (V) pieogpeay 0} (D) [1e1 opIs yoeny :¢ doig




Model : CF 8747-B
(4'6" Full & 5' Queen)

Assembly Instruction

Step 1: Unzip the black non-woven fabric on the back of headboard and take out all the parts out.

\)/

/w\

Attention: Zip the black non-woven fabric after take out the parts !!

BACK VIEW

Step 2: Fix the headboard and footboard with legs as shown.

A % Headboard | ] pc
B ““ Footboard 1pc
C O_/ W sideRail | 4pcs
DNy ] 2pes
E @ wmmmé_a 2pes
F [ﬁ¢‘ ekt 1 2pes
G | = Simorwoot| 4PCS
H \ Slat 4pes
I E SupportLegs [ 4pcg
J oom ICBBMSxI6 | 8pcs
K @mmm  JCBCM6x30 | 20 pes
L @mmm ICBCM6x35 | 4 peg
M | @ommmm CBCMGx50 | 8 pes
N X Allen Key 100mm | | pc
0 X AllenKey 70mm | pc
P | Gusmmme CSKSerew32mm| 8pes
Q @ Spring Washers 6pcs
R @ Flat Washers 8pcs
S ﬁ Adjuster 4pcs

Step 3: Attach the JCBB Bolt (J) to the headboard bracket and footboard bracket .

FRONT VIEW




‘(H) s1es o 03 (1) s3o1 poddns oy yoeny /7 doig

“(D) rex apis oy 0} () S9f [rex opis oy YIENY G dalg

“KI[1q®IS POq S[qEIISOp UIBIQO 0} JUSIOLIINS 9q P[NOYS SIB[S O} JO dOURISIP Y],

*MOIOS S[SD YN Sie[s oy} uySL], ‘[1el 9pIS 03 Sye[s paq oy} [[eIsu] (Q) A9 U]V UM IoUI0)) § oY) udy3L], :§ doig

‘1315 03 umop 3o30e1q oy Sulysnd £q (g) preoqioo] pue (V) pieogpeay 0} (D) [1e1 opIs yoeny 9 doig




Model : CF 8747-B

(6' King)

Assembly Instruction

Headboard

1pc

g
=

Footboard

1pc

/ / Side Rail
Cl1 C2

Step 1: Unzip the black non-woven fabric on the back of headboard and take out all the parts out.

\)/

/w\

Attention: Zip the black non-woven fabric after take out the parts !!

BACK VIEW

Step 2: Fix the headboard and footboard with legs as shown.

4pcs
/ WMMM_EE 2pcs
@ MMMMUOEA_ 2 pes
S | 2
— | dpes
— S 4pes
E SupportLegs | 8pcs
@Uﬁs JCBBMSx16 | 8pcs
@mmm  JCBCM6x30 [ 2(Q pcs
@mmmw  JCBCM6x35 8 pes
@nE JCBCM6x50 [ 8 pcs

Allen Key 100mm

X

Ipc

X AllenKey 70mm | pg
g CSK Screw 32mm WGOm
@ Spring Washers Qqu
@ Flat Washers Wﬂvow
ﬁ Adjuster Mw_uOm

Step 3: Attach the JCBB Bolt (J) to the headboard bracket and footboard bracket .

FRONT VIEW




‘(H) s1es o 03 (1) s3o1 poddns oy yoeny /7 doig

“(D) rex apis oy 0} () S9f [rex opis oy YIENY G dalg

1SIp oYL,
0D oy uoysL, :g dorg

“KI[Iq®IS POq S[EIISOP UIBIQO 0 JUSIOLINS 9q P[NOYS SIB[S Y} JO dOURISIP d

‘1315 03 umop 3o30e1q oy Sulysnd £q (g) preoqioo] pue (V) pieogpeay 0} (D) [1e1 opIs yoeny 9 doig

"MOIOS IS WM SIE[S oY) UoIYSL], [TeI 9pIS 0} Sje[s Poq oy} [[eIsu] () Lo UV YIIM JouT




